DO NOT OPEN THE SEAL UNTIL INSTRUCTED TO DO SO.

NT (T) NT - NOV, 2019

Medium : Telugu MENTAL ABILITY TEST Q. Booklet No. XXXXXX
Candidate’s Roll Number Paper—1I

Time allowed : 120 Minutes Total Questions : 100 Maximum Marks : 100

INSTRUCTION : Please check that OMR Answer Sheet No. and Question Booklet No. match with each other. If they do

not match immediately replace the Question Booklet and OMR Answer Sheet. Candidate should fill the correct

Question Booklet No. in OMR Answer Sheet.

Instructions to Candidates

Read the following instructions carefully before you answer the questions. Answers are to be SHADED on

a SEPARATE OMR Answer sheet given, with a HB pencil. Read the Instructions printed on the OMR

sheet carefully before answering the questions.

1. Please write your Roll No. very clearly (only one digit in one block) on the OMR Answer sheet as
given in your admission card. Please see that no block is left unfilled and even Zeros are correctly
transferred to the appropriate blocks on the OMR Answer sheet. For all the subsequent purposes,
your Centre Code No. and other details shall remain the same as given on the Admission Card.

2. Paper-l (Mental Ability Test) consists of 100 questions (Q. Nos. 1 to 100).

3. All questions carry one mark each.

4. Sinceall questions are compulsory, do not try to read through the whole question paper before
beginning to answer it.

5. Begin with the first question and keep trying one question after another till you finish all the
questions.

6. If you do not know the answer to any question, do not spend much time on it and pass on to the
next one. If time permits, you can come back to the questions which you have left in the first
instance and try them again.

7. Since the time allotted to the question paper is very limited, you should make the best use of it by
not spending too much time on any question.

8. Ablank page is provided for rough work at the end of question paper.

9. REMEMBER YOU HAVE TO SHADE ANSWERS ON A SEPARATE OMR ANSWER SHEET PROVIDED.

10. Answer to each question is to be indicated by SHADING the circle having the number of the correct
alternative in the OMR Answer sheet from among the ones given for the corresponding question in
the booklet.

11. Now turn to the next page and start answering the questions.

12. The OMR Answer sheet consists of two copies, the ORIGINAL COPY and the CANDIDATE'S COPY.
Do not separate or displace them. Do not darken the bubbles in two copies of OMR Answer sheets
separately. After the examination, you should hand over the original copy of OMR Answer sheet to
the invigilator of the room and can take away the Candidate's copy of OMR Answer Sheet with
them.

13. The candidate need not return this Question Paper booklet and can take it after completion of the
examination. No candidate should leave the examination hall before the end of the examination.
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PAPER - |
MENTAL ABILITY TEST
(Q. Nos. 1 to 100)
Max. Marks : 100

Note : SHADE the correct alternatives in the OMR Answer Sheet provided, from amongst
the ones given against the corresponding questions in the Question Booklet. For shading
the circles, use a HB pencil.
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Direction: In Question nos. 1 to 5;: Direction: In Question nos. 6 to 10:
Column 16D eogsdwen, Column 11 &’ e8| ||Komcsed  §oh XD DITFTPEIDED BHAT
2539, Column 11 €7D £ 908 Column | || |90, X edlsd 3\ O 25PeneAD) .
A g é
28 WEBIWD  AWKKYoDd. TODOND | ||(i) a8 20%E A, B, C, Ddaid E esd
202000 4 RPN OIS {300 TPAD Dods| || X gen e .
ST = P2 A)
DO3DAD. (i) PO 28D a&w;go:imc‘.) 2,50D DD, 28D
Column-1 Column-—1I PSEOIDCED, 2,86 DPTPAEDD, 256D iS5,
DMBQZ 67024 (iii) aow"A cm@asées S0 2 S0 &
ANYQD 84917 RXEPD. O B D03 aoe‘:aéoa»c‘o R &
MBTYC 58603 goéss,,g) BICETD
T&)‘;’:‘;" ;"gég (iv) PopdxDS D SDoS> A e 2sEEd
SOYAE A o&a@wwbvb@emé)s@s‘% WRXETED.
aNTYM 21586 (v) C oambﬁadm aavcu;gowd.)
YBTCZ 80532 6. %3"0’505»@ XD ?
ZNMAC 29631 (1) A 2 B
MTQYZ 46528
B) C @ D
L Mol & 7. FOEIEDS XD ? |
14 @5 @ B @ C
2 Acsax) & 8 & Sob VIS & wpcdr eSS
(1) 0 (2) 3 PP DD ?
@) 8 @ 9 (1) A B (2) B, C
Questionld: 2 (3) AI C (4) B, D
3 Tahy €& o Debren A ? |
(1) 6 (2) 5 @ A 2) B

QuestionId : 3
QuestionId: 9

4 T 20050 Qohx) S&xd wrerr S| 10 30 WXEED ATTEINS’ GOV A7
QB0 W0 (1) ii (2) i
(1) 12 (2) 10 3) v 4) 8=
(3) 9 (4) 11 QuestionId: 10

Question Id : 4

5. D S0 Nosasb‘é‘&ommdm

)

(1) 21 (2) 5
3) 8 (4) 7

Question Id : 5
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Direction: In Question nos. 11 to 20: 19 _op_mo_n__pnmop _
2 9T wsctvw w8 & 0S| (M) mnpmon (2) mpnmop
@%&MD %ovo‘l 29 B0 6%030!’3@:) U’@)Q (3) mnompn (4) mnpomn
DHE Loty 20, 4 <.91'915‘bry‘)uoéomae)e‘)'ﬁ Questontd 19
208 TPOD docS 06 €98 RIBR Zo0ADD [V 20. C_BBA_CAB_AC_AB_AC
(1) ABCBC (2) ACBCB

" ABB__AB_B_BBA_A (3) BABCC (4) BCACB

(1) BABBA (2) BBBAB Question Id : 20

(3) ABAAB (4) BBABB Direction: In Question nos. 21 to 30:

QuestionId: 11 éoCﬁ "3655&)&?6 d’é&&)@e 9] cOO&J’zS SQ?@G 28 coosozg

2 BAA BBB AB._ Se20dodd. (%éocs WRERD 4 0T

(1) AABB (2) BBAB g omed (1), (2), (3) 200D (4) & asd
S230009 SCENE maao& KB 2ITTPOBDD
(3) BAAB (4) ABAB | DB “Instructions” & &&b&%ﬂ oIl
13. A_BAB_AB _ABB 2 0.6,24,60,120,
C A -PAR AR (1) 196 (2) 206
(1) AAA (2) ABB
(3) 216 (4) 210
(3) BBB (4) BBA Question Id : 21
Question Id: 13 22. 4[ 32’ 8, 64, 16, 128,
14. PQR__RSPRS __SPQ _ (1) 64 (2) 156
(1) SPQPQ (2) RPQSQ (3) 48 (4) 32
(3) QRSPQ (4) SQPQR Question Id : 22
Question Id : 14 23' O/ 9/ 21/ 36/ 54/ —_
1 2
15. AC_CAB _BACA _ABA _ACAC W 75 2) 144
(1) AACB (2) ACBC (3) 77 (4) 69
(3) BABB (4) BCBB 2. 39,56, 73, 90, 107, 124, |
QuestionId : 15 (1) 137 (2) 14,]
16 W_V__XV_W_VW_XV (3) 147 (@) 161
(1) XWWWXW (2) VWXVWX Question Id : 24
(3) XVWXWX (4) XWVXWV 25.6,24,600,120,
QuestionId : 16 (1) 210 (2) 240
17 _ABA__BA _AB (3) 180 (4) 224
(1) ABBBA (2) ABBAB Quesion d:25
2. 17,37, 77,157,
(3) BAABB (4) BBABA (1) 347 @) 217
T @) 417 @) 317
18. UV _V_U_WV_UV_VUU_ WVU N
(1) UVWVUW (2) WUVUWV
(3) VUWVUW (4) WVVUWV

Question Id : 18
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27. 12,15,27,42,69,1M1,
(1) 164 (2) 160
(3) 174 (4) 180
28. 26,4,20,10,14,16,8,22,2,28,
(1) 34 (2) -6
B3) -4 (4) 6
29. 14,11,13,10,12,9,
1) 6 (2) 15
(3) 11 (4) -3
30. 789, 678, 567, 456, 345,
(1) 1M (2) 254
(3) 244 (4) 234

Question Id : 30

Direction: In Question nos. 31 to 40:

Q@Q%AQSG 5 eaxdwew (problem figures) A, B, C, D

J00ID E et HRoseaddD. @ 28§00
QO] 4 TETYOH  DITTREweS

(answer figures) 2,88 €3 0D PO 6 S

D DD, TPAD (HBOD) D KISTFTPRITP

PIDRP

31. Problem Figures :

P

(A) (B) (©) (D) (E)
Answer Figures :
(1) @ (2) @
(3) @ (4) @

Question Id : 31

32. Problem Figures :

Question Id : 32

Question Id : 33

X #|[c efls #[|lc x||le #
S X . S X
e Cll# s|x c||# e|ls ¢
(A) (B) (€ (D) (E)
Answer Figures :
(1) Jc X 2 [c X
#* )
° ) #* S
3) |c S (4) |s C
) °
* X * X
33. Problem Figures :
(A) (B) (©) (D) (E)
Answer Figures :
(1) % (2) %
(3) % (4) %
34. Problem Figures :
TCA|[ADO+|[+ S A||A T O]|lOOA
* + S|[S T x|[>» 00|00+ *x|[x P *
(A) (B) (€) (D) (E)
Answer Figures :
(1) |A %O (2) 1A PO
T 00 T O %
B) |[AopP 4 (A =0
T O % P T %

Question Id : 34
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35. Problem Figures :

S

3

3

s

s

(A) (B) © (D) (E)

Answer Figures :

(1) g: (2) g:

< N
(3) (4) g’
N N
36. Problem Figures :
> < < < <
> > > > <
> > < < <
SIS 2> <7 <7
(4) (B) © (D) (E)

Answer Figures :

1 [ < 2 | <«
<3 <<
< <

(3) (4)
<3 <3
< S < <

37. Problem Figures :

1 1 1 1 1
E®2 8@2 B©2 602 6 2
5 3115 3115 3115 3115 3

4 4 4 4 4

(A) (B) (© (D) (E)

Answer Figures :

(1) ! (2) A
6 2 6 2
5@3 5@3

4 4

(3) . ! ) (4) . ! )

5 3 5 3
4 4

Question Id : 35

Question Id : 36

Question Id : 37

38. Problem Figures :

3

i

53

(A)

(B)

Answer Figures :

(1)

=

(3)

=

©

(2)

(4)

39. Problem Figures : |
| ¢
| L ] k][

(A) (B) © (D) (E)
Answer Figures :
(1) T_—> (2) T__s
o | ol X
(3) T_—(( (4) T_—l
p o
40. Problem Figures : |
(A) (B) (©) (D) (E)
Answer Figures :
(1) g; (2) g;
(3) g; (4) %g
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Direction: In Question nos. 41 to 50:

& 30D OB L) ' 4 RS’ 2.8 80 DN
FED DI cod. I MDD
RIOTFTP NP TPO3DAD.

41.

42.

43.

Choose the figure which is different from the
rest.

V

W

WA

WV

(D (2 3) (4)
(1) 1 (2 2
(3) 3 (4) 4

Choose the figure which is different from the

rest.
> || X
(o] o)

o o)

XK

(1) (2) 3) (4)
(1) 1 (2 2
(3) 3 (4) 4

Question Id : 42

Choose the figure which is different from the

rest.

(1) (2) (3) (4)
(1) 1 (2) 2
(3) 3 (4) 4

Question Id : 43

44.

45.

46.

47.

Choose the figure which is different from the

rest.
Q@YD
(1) (2) (3) (4)
(1) 1 (2) 2
3) 3 4) 4

Choose the figure which is different from the

rest.

4 4,
£5 B \2) €5
(1) (2) 3 (4)
(1) 1 2) 2
3) 3 4) 4

Question Id : 45

Choose the figure which is different from the

rest.

=2l % §
(1) (2) (3) 4)

(1) 1 (2) 2

3) 3 4) 4

Question Id : 46

Choose the figure which is different from the

rest.

BSRI|ER | ER
(1 (2) 3) (4)

(1) 1 (2) 2

(3) 3 (4) 4

Question Id : 47



48. Choose the figure which is different from the

49.

50.

rest.
—7>< X g
(1) (2) 3) (4)
(1) 1 (2) 2
(3) 3 (4) 4

Question Id : 48

Choose the figure which is different from the
rest.

AuA B 000 4| | (P2 n,g,n
f— = =
(1) (2) (3) “4)
(1) 1 (2) 2
(3) 3 (4) 4

Question Id : 49

Choose the figure which is different from the
rest.

o~ 0o '\ >
q C D
D) D D
U D) A Q %S
(1) (2) (3) (4)
(1) 1 (2) 2
(3) 3 () 4

Question Id : 50

Direction: In Question nos. 51 to 60:

$ocs el DB & 66700%&63&3:3&&366

2D, 8 S HE) R ()
Q —0
QX LAOD. RPEADE” KPR Lo (HROEDIW.
51. 3 2 1
6 5 4
7 8 9
39 38 ?
(1) 36 (2) 37
(3) 41 (4) 35
5 5 6 3
2/\ 2 1/\ 2 S/Q\ 2
1 1 2
(1) 649 (2) 691
(3) 694 (4) 964
53 7 5 8 iestion B
1 6 4 7 2 9
(1) 46 (2) 56
(3) 72 (4) 74
54, 11\/ 5 9Y6 15\/ 9 |
96 45 ?
(1) 135 (2) 140
(3) 144 (4) 138

Question Id : 54
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60 49

55, '
ﬁ x 16 1

(1) 115 (2) 118 ? 4
(3) 121 (4) 114 7
Question Id : 55 (1) 1 (2) 2
56. 3 4
o o ( ) 3 ( ) ) Question Id : 60
qp Qﬂ q, Direction: In Question nos. 61 to 70:
$00 E78) e Bochd XRRE” DBDRRD SN €YD
(1) 18 2) 20 A, B, Cados» Dew :oaﬁﬁ;g %x3e (problem
3) 16 @) 27 figures), 1, 2, 30005 4 RxODED DOTFTP

28:3wed (Answer figures). A, Be sﬁxsé 28 bgéq
Roecsod. €, D s ek 28308

Question Id : 56

57 4 2 2 20020063 Paoocieasd Answer  figures &vod
‘@ ‘a i \_\ SN0 RRIDID D%mesﬁao%asm@
61. Problem Figures :
3 6 7 9 8 2 = [< |G
(1) 72 (2) 77 J ﬁ l L 9
(3) 56 4) 74 N~ O
Question Id : 57 (lq) {B) (C) (D)
58, o o a e o e Answer Figures :
(1) ] (2) |4 1
(9 © O
O <V [ g
O @ @
(1) 136 (2) 138 @) H @ 14 -
(3) 140 (4) 144 N o
59.
11 7 14

16 14 7
1N ) 4
3) 3 (4) 9

Question Id : 59
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62. Problem Figures :

adb-aVNE
(A) (B) ©) (D)
Answer Figures :

(1) (2) [:
(3) ’: (4) f

63. Problem Figures :

A Ot
O O

(A) (B) (©) (D)
Answer Figures :
(1) i (2) t
(3) " (4) T

64. Problem Figures :

Question Id : 62

Question Id : 63

jvs @ Ol 2
(A) (B) ©) D)
Answer Figures :
(1) @ (2) @
(3) (4)
N @

Question Id : 64

65. Problem Figures :

AN
(A) (B) © (D)
Answer Figures :
(1) : (2) @
"[0] "
66. Problem Figures :
= % I
Al <l Vo ?
o) ¥
(A) (B) © (D)
Answer Figures :
1 [x, 2) X
> > _
3) [% @) X
<, > .
67. Problem Figures :
® Y|+ X|/[E N
?
$ PR HM_F
(A) (B) © (D)
Answer Figures :
(1) |F M (2 \w F
E w E M
(3) |F w (4) |[F W
M
E M E

Question Id : 65

Question Id : 66

Question Id : 67
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68. Problem Figures :

69.

70.

O ||><) 0] »
(A) (B) (©) (D)
Answer Figures :
(1) (2)

=

L

Problem Figures :

(4)

A

Question Id : 68

A
—

(A) (B) (©) (D)

Answer Figures :

(1) — (2)

l

Question Id : 69

(3) (4)
| "|C
Problem Figures :
o |[AIC_I
AL Ol O
(A) (B) (©) (D)

Answer Figures :

(1) @

]

(3) C

]

(2) |:|

(4) @

Question Id : 70

BoCD.

Direction: In Question nos. 71 to 80:

S0 el HHoE g D 83
E0030NI0LIIBED. LI0CDBRID WEGEAID LIV
AND4 ZEFROY0RE &0 T
DY ED LAEEEFRIDED KB TPAP SPENED.

7. 17 =3+43x8

72.

73.

74.

75.

76.

77.

78.

(1) -=+

B) +-=

48+ 8+8=2

1) +=+

(3) = =-

30+26x8=7

(1)—)(:

(B) +=x

3x8=19+5

(1) =+ -

(3)X+:

6+12=48-24

1) +-=

B) + =+

22 =14 +48-12

(1) x = -

B) =++

6-3=12+6

(1) x =+

B) + =+

50-21x8=10

(1) = +-

B) -=+

(2) ==+
(4)X:+
(2):+x
(4)—%:
(2))(—:
@) -+ =
(2) x =+
(4) - X =
(2) x- =
4 +=+
(2) - x =
(4) + =-
(2) -=+
(4) = + -
(2) - = x
(4) + =x

Question|d: 71

QuestionId : 72

Question|d : 73

Question Id : 74

QuestionId : 75

QuestionId : 76

QuestionId : 77

QuestionId : 78
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79.

80.

5=4+11-9
1) +=+

3) +=-

4x9=6+1
1) +-=

B) =-+

(2) x =+

(4) - x =

(2) x- +

4) =+ -

Question Id : 79

Question Id : 80

Direction: In Question nos. 81 to 90:
DD 08T 4 ITTUTY0W 1 HHAD DWocHI)
LTPLD 208 KoL SN eyow | HERD
SO(S €:9) STFLD T @90 DGR K0e0GADD
SR ey 000 @S 2.8 65w Saaodol. T
4 ERFi) Q33000 ol (Hhodol

81.

82.

83.

84.

85.

TGOS : 2019 : 1 oo :

(1) 2020
(3) 2016

(2) 2014
(4) 2017

Question Id : 81

b.b.%o@:w&éo&%::&:ﬁ@m:

(1) e;réboﬁ (2) Bayofs (wrestling)
(3) &5 (4) 5B

XD Bh ASifest el

(1) m'go.l) (2) we\;és

(3) &3> (client)  (4) DAAITIPEED
30F: D FOTO:

(1) g5098¢89 (2) 235:0c5

(3) e (4) ErTF{osDed
PMG :SIX::TIN:

(1) WEE (2) BEE

(3) SEE (4) WEB

Question Id : 85

86.

87.

88.

89.

90.

AFC:DIF::BED:
(1) CGF

(3) EHG

(2) EIG
(4) EGH

EART : CCPV :: BATH :

(1) CDBA
(3) DZJR

Wﬁéﬁ):@éﬁ@é::ﬁ&ﬁéﬁ:

(1) §3¢5
(3) HB

(2) ZCRJ
(4) DCBA

(2) w&éoeﬁ
4) DS

O Ky | SROTP

(1) S
(3) Borred

2P0 oD

(1) DO
(3) e9oTPEEHCH (£D22¢D)

(2) %56
(4) @%’bo
Fead

(2) 2D
(4) BHed

Question Id : 86

Question Id : 87

Question Id : 88

Question Id : 89

Question Id : 90
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Direction: In Question nos. 91 to 95:

Column 1€ eagsawen, Column Il € esoSew
2552859 Column 1l €' 9D 08 Column | &
a8 WEEIDD AWTKYOD. SO PEAT
30900 4 ZEFEHP) CWOE B0 A AR
LO3DAD.

Column-—1 Column-1I
AMRVT 65479
RTHIB 46128
MRBZ 86317
IAMRV 85679
HIBZA 39218
MRTAB 47961
MVRTH 47526
RZIBH 38621
BZIRV 83156
IMVRH 75826
91, Zomsbgé
(1) 8 (2) 3
(3) 2 (4) 1
92. Ao33£b§°£
(1) 9 (2) 6
(3) 8 (4) 3
93. Io?msbg&
(1) 2 (2) 1
(3) 8 4) 7
9. H oaasb%"&
(1) 1 (2) 3
(3) 6 4) 2

Question Id : 94

95. H a0bosy 7 o3y, G axsdw sreire O

X)os,os_
(1) 6 (2) 5
(3) 10 (4) 9

Question Id : 95

Direction: In Question nos. 96 to 100:

SIS DRSS (NSNS v CSHN N &
@qu&é%o@ mm@m& ;

28 €355 & E0E0exIDE” DO SAKRD EXF) ¢D.
(i) D A B, C, D, E ok F.

(ii) A D% B DaFaTeh 2208,

(if) Se0exaDE” A DB REDICD.

(iv) A a3y, Peseded C. C aag), B8 P D,
(v) D o3 PO E.

(vi) Fcdoxy Scien B dosy F aduxy &6 20
So.

9. B & C d0ped ?

(1) Pescoed (2) TPeH LHBPEHED
(3) 238 Fesxed (4) O3
97. A F Qa0 ?
(1) Vesd (2) zpey Desd
(3) escHrrPcd (4) 9
9. &2 VOIS’ €0) LDWEVRD oS ?
(1) 2,88 (2) Boco
(3) Beed (4) Perd
99. C & F Qe0ekood ?
(1) 9 (2) eskrrcd
(3) e (4) FexHJ e
100. C £ E 3058008 ?
(1) Pesd (2) &30
(3) eohrrcH (4) &9

Question Id : 100
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